275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a“e L Q Tel. 519-884-8555

)74 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

2 PLATE LICENSE PLATE HOLDER

Kenworth T680 2013
INSTALLATION INSTRUCTIONS:

1. Do not remove plastic coating until the last step.

2. Install rubber edge guard onto edges shown in figure 1.

INSTALL SUPPLIED TRIM GUARD ALONG
THE EDGE BETWEEN FLANGES

INSTALL TRIM GUARD ALONG

< THISEDGE, BOTH SIDES

3. Mark and drill bolt hole locations using 9/32” drill bit. The dimensions shown in figure 2 will help ensure proper location. Once
this has been done, install 1/4” hardware leaving loose enough to allow the license plate holder to slip behind the washer and
head of the bolt. Peel protective plastic from behind mounting flanges.

==t
] B
= |

S
‘«—85

/70—

s

o o o o DIMPLES IN SURFACE OF

Fig 2
4. Once the license plate holder is securely hanging in place, the bracing brackets can be attached as illustrated below, leaving

loose for final adjustments.
5. Drill the underside of the bumper using the 9/32” drill bit where the bracket meets the surface of the underside of the
bumper.

6. Afterall the fasteners are in place and the license plate holder is in the desired position, tighten all hardware.

— LICENSE PLATE HOLDER - SIDE VIEW

N 1/4-20 LOCKNUT
"
S~ wasHER

10-32 LOCKNUT 1/4-20 X 11/2" BOLT

o R \\ WASHER

10-32 X 1/2" SS TRUSS HEAD BOLT BRACKET

Page 1 of 3 1IKW042 12/2009



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a“e L Q Tel. 519-884-8555

)74 Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

PORTE-PLAQUE D'IMMATRICULATION, DEUX PLAQUES

Kenworth T680 2013
INSTRUCTIONS D'INSTALLATION:

1. Ne pas retirez la pellicule plastique avant la derniére étape.

2. Posez la bordure protectrice en caoutchouc sur les cotés, tel qu'illustré a la figure 1.

INSTALLEZ LA BORDURE PROTECTRICE
/ LE LONG DES COTES ENTRE LES BORDURES

INSTALLEZ LA BORDURE PROTECTRICE SUR
CETTE BORDURE, DES DEUX COTES

Image

3. Marquez et percez des trous de boulon a l'aide d'une méche de 9/32". Les dimensions indiquées a 'image 2 vous aideront a
assurer le bon emplacement. Une fois cela fait, installez la quincaillerie 1/4", la laissant suffisamment [ache pour permettre au

support de plaque d’'immatriculation de glisser derriére la rondelle et la téte du boulon. Retirez la pellicule plastique derriére
les brides d’installation.

r
|
24.0 5
-—85——‘ ‘—785
a

F—70—]

I

- POINTS SUR LA SURFACE DU PARE-CHOCS

<

|[2

I

Image 2
4. Une fois que le support de plaque d’'immatriculation est solidement fixé en place, les supports de fixation peuvent étre fixés

tel qu'illustré ci-dessous, en les laissant desserrés pour les derniers ajustements.

5. Percez le coté inférieur du pare-chocs avec une méche de 9/32", a I'endroit ou le support rencontre la surface du coté inférieur
du pare-chocs.

6. Une fois que toutes les fixations sont en place et que le support de plaque d’immatriculation est dans la position désirée,
serrez les boulons.

SUPPORT DE PLAQUE D'IMMATRICULATION - VUE LATERALE

E_J
/ CONTRE-FCROU 1/4-20
RONDELLE
e
CONTRE-ECROU10-32 ~//<€—— BOULON 1/420X11/2»
RONDELLE 3
. ) " €——— RONDELLE
BOULONS A TETE BOMBEE 10-33 X f \
1/2"ss SUPPORT

Page 2 of 3 1IKW042 12/2009



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a“e L Q Tel. 519-884-8555

)74 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

PORTA PLACA, DOS PLACAS

Kenworth T680 2013
INSTRUCCIONES DE INSTALACION:

1. No remueva la cubierta plastica hasta el Gltimo paso.

2. Instale el protector con bordes de hule en los bordes mostrados en la figura 1.

INSTALE LA MOLDURA PROTECTORA PROVISTA A
LO LARGO DE LOS BORDES ENTRE LAS BRIDAS

INSTALE LA MOLDURA PROTECTORAALO
/ LARGO DEL BORDE, AMBOS LADOS

Figura 1
3. Marquey perfore agujeros de localizacion usando una broca de 9/32”. Las dimensiones mostradas en la figura 2 ayudan a

asequrar una localizacion apropiada. Una vez que esto se ha hecho, instale los accesorios de 4" dejandolos flojos suficiente
para permitir deslizar el porta placa atras de la cabeza del tornillo y la arandela. Remover el plastico protector alrededor de

las bridas de montaje.

S
‘«—85

70—

o

JIN

o o o~ o HOYUELOS EN LA SUPERFICIE DE LA
I DEFENSA

Figura 2

R==ib
=

4. Unavez que el porta placa cuelga sequro en su lugar, los soporte abrazadera pueden ponerse como se ilustra abajo, dejando
flojo para su ajuste final.
5. Perfore por abajo del parachoques usando una broca 9/32” donde el soporte se junta con la superficie abajo del parachoques.

6. Unavez que todos los sujetadores estan en lugar, y el porta placa estd en la posicion deseada, apriete todos los accesorios.

PORTA PLACA - VISTA LATERAL

—
H «— TUERCA1/4:20
~—
~__ ARANDELA
TUERCA 10-32 \ TORNILLO 1/4-20X 1 1/2"
}\ \ ARANDFI A
ARANDELA
TORNILLO CABEZA ] SOPORTE

ARMADURA10-32 X 1/2"

cc '

Page 3 of 3 1IKW042 12/2009



